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Nomalty.Molality and Mdle Fraction 

Teaching osk 
Ans D 
Boluton 

A) 0q of KoH Iloom of sdluion. 

c) IN 

N 

G:)Ans- B 

D 6 cf 

56 

N 

B) 05 molar Hy So4. -’ N= Molarity xBasiaty 

t3poy 

Mx. 

X 

6x l000 
31l64| 

Nact hoog ofoater. 

6 

No. oP m ole 

30 -1-4N 

- 1:5N 

Fet2 x 

56 = 

Solution' No. of mole of Ho, nYM Xo. 05L-0-? 

fe + aHd ’ fet 4 Hgt cl + 

oP 
X O 

2 moley of Hcl i's required to convert Fe to 
Fet. 

. 

o.| mole 

mal. 



Ans B 

A) 0.3 %. HgPoy 
Molo mas= 3+31+l6x4. =98 

B) 03M t% Poy. 

M- w_ 
G MW 

ws A4qms/in | ltre. 

c) o.3m HzPoy 
m 

03 = 

l000 
Vo 

GMw k) 

w 9:4ga9 preeat to k 

). o3 N H Poy 
N G-Ew 

l000 
VmL 

0"3x49= 

2 

X 

W: l4-4qm in o0o0 l 1000 

03M is m ge cancentratd becauy A Yng 
peent in (000 ml 



Qu)Ans D 
8oluian Gven 

6rol af N Hcl. 

M Ix5 =5M. 

Qoml o Ha Soy. N 

M xO = lom. 

3oml of N HNog. 

Mx30 = lo M. 

Meq = , + M2 + Ma 5+l0 +lo =25 M. 

Volume = l000mL. 

Meg : Nxv. 

Q5-NX I000 

Narmay Solu fio (o0uld be N 
Y0 



Q5) Ao- B. 

F8 lmole of HgSau-mole of koH reguired. 

Gven l00 ml of o.M Hasoy. 

n= Mdarity x Vt : olxo|= 0-ol rnol y 

100 r of of o.) M 
0:ol moley. 

KOH 

n= o.lxo} = 

f8 o-ol noles of Hsoy 

Yquin ed but we have only ool mo le of kot 

koH fs lImitng reogenl Foorol moleg ofkoH 
o 0o5 noe of H9Soy fs used 

Kernaunirq HasOu: Ool-O005 = 0)005 mo. 

GEw: Gmw 
n 

|000 

O 02 mde of kot 

Vml 
’N: nw 

Géy er V-2 l34ra &000 ml: 

- 0-005 =5xlo-3 N. 

lo00 

N O-005 X & euivalet Imole 

Vml 

n=l (Mh's sa!), Eopa vald of Fet= oavalt of kze. 
= D00x lo X6x |=36. 

Mole pey cerd of Mobr's sat of 5 mole -3x88 
= 60. 



Q) ) Ans A 
&olutten 1he valencg 

N, V= N, Va 

Q3) Ans D 

N2w 
M-wt 

56 

w 56 

xlx ). 


olution Mole fractf o ofwater = |- 0 6-0-4. 

No. of roole of ootey n solutian=n. 

Mole ot alcohol = Given ms 
Moleculaamoy 

Mle facto of ooter af 

n 

n+3 

Sn43 

f81 Imole ooter 

5 

n+3 
2 

69 3 
46 

3 

=04 ) ah= 04 (3n+3) 

2 

GMw= 189my. 

Qn0:8n +·2 

N-0-&n |2 



Qa)Anst B 
|&dlulte M: 

G°ven volume = 50oml= 200 

M= 

O002 

No. of moles weight 

= an Molani ty axmoles ofsdht 

Equivalent wetght 

Qo) Ans B. 

(oeight = Moloty xmoloa mass. 

mol mass 

I000 

m 

noln as 
basi utt 

Wetght of aced prgent to solutio= 

Molanity 

Anourt of add _ Moledhy xtquavoleot weigkt 

Moatty x molar may of dibastc 

2 

|Soutim Moles of Solute present in 500ml of 
solutiom -6:I. 

O. x lo00 

Molo mas 

60 

Wetght of soutfeo = 500x |"05 = 525 qm. 

weig nt of sovert 

319. Cmde, of 
sohd) ght 

595-6=519 gms 

lof sohen 



Q)Ans B 
&olutin No of mole of solt (r%f65moley 

Weght of sdutn dxv 

Mdal?ty = Do. ofmoley of l000 
Solt. Loeight of saert 

Solutin W of Sohct weight of solvent = h 

m= 0.5x loob 

Qu2Ans A 
|&otign 

= 06x l00 = 96. 

3, 30 Ha Yed bot he x. 

Y=I2, 
Male hocton of y -o2. 

q6-16 = 80 

Mola ity -

Total mole tractm of xey- |. 

13) Ans CD. 

mole fro chan of x= |-y- 1-02=0-8 

=625 m. 

O-8x18 624 32m. 

&oluttn Mole Racttm, moalty & t wt 
are fndepen dert of Jeroperara. 



QIAns B,c. 
&olutian 

M 

M 

NaacQ3 

HaCaOyta0 

53 
|06 

NNagto = 05 X|-0 N. 

6On05M 

2 

Q)Ars A. 

6-3 
JQ6 

= 

x looo 

Nala C0 u-9 Ha0 0.5 X= |N. 

L:os M 

F Bot solutiony Molaty& Naimali are soe. 

&olutio The quantttes of te sdute solvert 

Loeights te molaltty dee not 
are expiessed în eigts 

charge oih the charge tn tonperatre. 



l6A) Ans'-A 
dolution 

O xidaom Numbey of Mn io KMn Oy: 

Oridattorn Numbey of Mn KyMn o,. o 

Q)+Mnt4(-2)=0 

Mn t 6. 

Change Oidotion Numker - 1-6= I 

Equivalent weight -M M. 



QH)Arst C 
&outhan Relatn bho molority£ molal? 

Q1) As B 

lO00 x M 
(000xd) - (MxGMW) 

loood- MM' 

&ouion Moleculaa weight of Hho, =Q+32 =34. 

01. oqueoy Hyog m eans Qogrs of #s6, în loog 
of solulion. 

Mass ofooter |00-QO-80. 

ngcder 

= 

Mde tracheo of wote 

80 

Xooter 18 
SO 20 

34 
+ 

Pater 

Doder tDHOa. 

ia-a0 34. 

Buxso Is(20 ). 

68 

68 

K34 
SOx34 

Q120+360 

=0.883. 

-0-883 



Ans A) A- 4., B- I, C- 2, D-3 

Solukon 

4 Molality 
B Mole racin 

c)NormaRty 

DMolorit 

B)Mdavity 

Maborg 

)gmo Kg-. 

) No unit. 

)g 

QDAns C 

dan3. 

3)mal. dm3. 

A) Normaliyp) ay with dernperate. 

’ P) avg wtth terperature. 
Varg 

c)5 D) R,S 

c) Molatty ’)rdeperndent of terperature 

vorta tet�bt S) Tovolve 

D) Mde Roctnq) Trdependert of tooperatwe 

R)Tovoves vato. 

beaner's Task 

&outort s% o Nomaly are GoDeguivalrts/ tre 

|&olution' ,% ofnola ly are molea IKg 



&olutoo Rela kan blo molboity & mololity 

lo00 x M 
(000xd) -AxGrw) 

GMw = M 

m 

) AnsA 
No. of mdes of 

of 

lo00 

Wsolvent = (o0 

Mola tty = 

Xurea 

(o00x4 

0. May al solvent = o.1 Ka 

urea (n) 0.l 9 rom mol. 

M 

MM 

Moles (solut ) 

Mas (solvend în kg ) 

=0l molal. 

oolui Urea c Hy No 0 

Gv er 6g0 o uyea ’ 

qo gns of oatey 

o.I 

1244+28+l6 =60 : 

n= 60I. 
60 



96) Ans B 
&oluho' 

Q1) Ans A 
&olutir 

Q3) 

XA X¢ +X> l-0:5 =0.5 

Ans D 

XA is less thao 05 

XA 
(-x2) 

xl000 

Guven 

GMwe 

MW of Solvent 

m:0, F8 ater Ma 18. 

lo00 

Molefacim oP Solvent I- Xs 

m=l, 

lo00 x M 

1000d- MM 

=|-0-00 179 = 0.982L 

O00M l00- HONM. 

d= 
Boluttor G ven , n:l M uo. de l02g/m . 

|000M4YOM > l 020. 

I040 M> l020 

to8 +1000 

M > 10p 

(2 

o-lx18 

|00]8 

Oi0o19. 

looo M 
lcoo (lo2)- tOM 

M>o98 



)As B 
&lutioo Core entratin of NaoH= lo% ol w. 

et o0 qmy of solufi mas of NaoH= lo m. 

NaoH o25 noleg. -o 
May of ooton = (o0-lo q0. 

nten = 

XNoot 

Ans D. 

|&oluignt 

|&outim Specrie greavty = ls4 

kasi ay I. 

mole, 

NaoH+oate 

o254 

N= loxspecc gravityx oeight . 

48 
3 

Hz POy 3+3l+ 64=48 

= lox |54Xo 

o25 0. 06 
5"25 

GiEw 

JFE Main Level Questons 

’Hs pay ha ba_ic?ht 
give tN soltion. 

g. 

| Mle of aâd dissolved io 

otey wll gv (N soutton only the acdy having. 

’ Hci,Hclay eHNO3 are all mono basic. 

value 3. 30 

33N. 

on lihe 

on't 



92)Ans! C 
&oluttn 
A) 20 l of o.|M HgSo ut 0m| of o-3M ml 

No. of mole of Ho SO, = o-!MXO. 020 

O 00 2 moley 
Mole of Ht-xo002 : 0.004 mol ep 

No-of mole of NaoH= O.3Mxo 02 L. 

n of 

OH O006 

OH->Ht 

= 0. o o6 mole 

mol 

It is basrc. 
B.loml of o./M HaSO + 0 ml of o2M Naot 20 

n of NaoH = o2 X0.o2 = 000y moleg 

Is also basrc 

)o m| of o.IM Has0u 

c) toml of o. IM H,So u+ [orm of o. I M Noot4 -
n of H9so, oxo.o |=0.0ol. 

[H-xo.0ol= O.002 

n of NaoH= 0. Ix 0.ol = 000 l 
OH= O-001 

Na0H 

Ht>oH So f4 is aGde, . 
Urol of o. M NaoH 

n af H SOy = 0- x002 =0002 
[H* ax002 0" 004, 



63) Ags- D. 
Bolution 

D lo00ml of o-3N 

N= 

1V). D) 

GE,) 0-3 

) 00onnL of o.15N. 

Qu) Ans B 

GEW Vin. 

GEw 

6Ew 2000 2 

N 

D)500n L oP o.2N Soluti. 

GE) 

x leo0 

of 

Bo0onrl of o !N Solutim. 

xo15= 0-3 

Boluten NHca 

NooH = 

o 

GEWB000 
5Ew0/X3 o:3. 

1TN are Same. 

3 

twetght x t000 

NaoH NHd 
GEw xV 

40x1 

15 

O04x lo0o 

36-5 X| 

l-095xY0 

J000 

-=·095 

W. 



Qo)Ans B 
8olutign N= NV+Na2 

Valny fata of Hd is). 

Q6). Ans B. 

V,+V2 

|5N= Q0 5 
N= 15 

e.M of 

Q1 Ans B. 

4. 

&duton euivalert moy of kMno, = 
Moleubr wetght 

Io kMou, Mp: 4Jo Moa Mo-8. 
Plectr os gained =|. 

= l0 

|00 

kMno= l58 I58. 

&olutfn Solvay proces x is Cacog yis Wcl. 

het v be the volue of Hcd thl netase 

95 gmy of a co 

*= 
-VX=) 

Egu'valent of Eguevalert of y. 4. 
V je 

50 orml · 



Q8) Ans A 
|Solutia Moecul mass of 

Eqivalert Mos = 86 (43 
Nagca l0Ha0 Q86 

I00m 8olutfon of soduro carbonat contais I 

lo0omL solutim oP sodiu Corbonat = l0g 
N= o 

Aeplyirg 
|43 

ormulay 
Normality ofacid x it volme = 

Normality of sodium carbonatx Pt volno 

Normaltty of acd = lox 42.9 
|43x 30 

Let v mt be the volume of HasOy 

8x5 4y"8x5 +34XVE 0"} x000. 

V= yml: 

Amount of 

So= Norma lit K&. 
(o00 

lO00 

= 6528 

mass X Volume 



Q)Ans c C 

Sdutin o5 nole ofu 

Moles of urea - 0 25 mole. 

Mas of solvent (walor) Ikg (000 

o25 nolee of urea o95 

Molamax of Urea ( NH3 ONI, ) 6ogmol 

loBal a ss of soluton= l0004 I5 =lo15 

|. o15 K9 of solutin conta 

Qo Ans A 

presrnt in IKg ofwsto 

Mas of urea 

) Total 

159x2.5 kg af solutin willuieurea 
159 x25 Kg 

&olutan May oP sug a = 34-23 
No of rooley af suqa = 

|"o15kg 

no: o.f moleg 

34-2 = 34-2 
Mol may 

urea 

Mos of eter= 4:2 -34.2 = |8og = 0.18 Kg 
No of mole of oater 

Md ctity No of mole of suqan 

80 
18 

Mos of oet in ka 

= |-05 K 

342 

- lo moles. 

Mole Raction of Sugcor = 0.) 



Q) rs-B B. 
Soutinn l0% mans 

a) 

coater= (o0-l0 =?0gms. 

Molat mo 
6Ha Os = 6x124 12x14 6xl6 = 18o 9lmo |. 

no- af mole of qucaSe = 

Mololily of sdutn 

Xg 

X0= molerackia of A. 

of qlucase in 100gm 

No of moly of cooter = 10 

Ans C. 

soufen o 056 

O056 

O: 05 5 

m XA 

mole hadfon of ater Xo |- X9=I-0:Ol! 

õoluttan A’ Solute B’ Solvent 

-XA) mp 

in lo0gm souti, 

X|000 

XI000 

15:282 
151 

15252 = -8809 

- O:o56 mol. 

-0. 62 m 

5mde 

=0989. 



oB)As AB,c 
Solutn Molalsy mn= 

Q)AosA 

m 

X = 

Q1s) Ans: 
Solutn 

n 

M 

l000- GM w) 

p-MI2 

Souton|M solutor mearg 

Mi tmw 

Im qrom |m solu0 mea I mole solta in lo0D qrarn ofsolvent 

&o concentraton of molo aueo 

I mdle 

E Molecular wetght 

Change - t-2=5 

M 

solule in lO00ml 

charge in oidafin sat 

mM) 

Oxda nbe of Mn in kMnOy = 

solutian ?s mâe 



Qs Ans c. 

Soution m: 

Q18) 

Q) Ans3 

Souton Ha POy is 

MX(000 

lo00d-MM 

Sdutian n-dacta of Hspou =3 

may of Hs POy = 499 Imo : 

&olution 

N=3M 
-3x1=3. 

molar mo af %poy = 3+3l+ 6y = 98 

no-of moles 49 - 05 mol. 

Ans-. 

Molosy = no of moleg of H PO. 
volume of soution n lihe 

Normality =nx Molartky 

GMw 

. 

lo00 

X- 3 

(00-2 

x /000 

(00-2 

= 03 3x0! 

2000 

o5 
=0»/M. 

535x98 5433 

= 0.3488 
0.35 

35XI02 



8dlutian 

Q Ans-50 

change 
Equvalnt wight af so, =Masou. 

Solutin o 

nN 

Q)AnsA 

+. 

in Oyidafm stat= | 

O.8 

3 
=0. 025 

mde percent of o = 

O.02 

£WMW 
n-facta 

O. 025+0.025 

Q.5 
O.o3 

Addrtonal Practise Queliong 

=M 

Souton- Esvalert weight ezal to moleculon 
Looght dvded by nfac3. 

n-tact8 in oy of Hg 

n 

of H P= 1 



Ans-B 
|Sdutin Mdal:ty : No of mdle of solut 

Molalaty od no of moly of solut, 

Qu) 

Q3)Ans B 

Mdality 

To vedure mdaly 
oeight of solvent 

Solutim' N= log 

C 

GE. 

wetghl of Solvert 

y=098-1. GE= 

CH� Sou) 

Ans 
Solution fe Sou 

1OomL 

X 

lo2. 

N= lox6: 98_ 9-80-2. 

O.lxlo0 X0-3 

Dne halr. doube He 

Gmuy% 

GM 

6. 

93. 

=0.49. 

2 

noof GEW of e sUy= no of GEW of KaCr,0 

lox294 

46 

Ky CrO4. 

=13_; 6. 

GM= 94. 

GEw. 

2 

6.w 

A94 n=6. 

3+. 
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P 
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15 

D 

AAC 

5 

5 

B 

15 

6 

16 

B 

6 

A 

6 
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16 

A 

17 

B 

D 

17 

B 

D 

18 

A 

8 

18 

3 

B 

A 

B 
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9 

19 
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9 
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